Trig Homework 5.4: 		Pg 302: 10-18,23,26  
		BONUS: 28 (5 Bonus Bank Points) Must show work to qualify.
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Communicafing Read and study the lesson to answer each question.
= 1. State which trigonometric function you would use T
tos0lve cach problem.

; CHECK FOR UNDERSTANDING
\
| a. 165 = 42" and ST = 8, find RS.

b IT

55" and RT
27" and TR =

. find RS.
find 75,
2. Write a problem that could be solved using the tangent function.
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3. Name the angle of elevation and the angle
of depression n the figure at the right. * o
Compare the measures of these angles.
Explain. \ ¢

. Describe a way 1o use trigonometry to D
determine the height of the building where
you lve.

Guided Practice  Solve each problem. Round to the nearest tenth.

5.1 = 13and A = 76", find @
.15 =26 and b = 18, find ¢ 5
7108 = 16" 45 and ¢ = 13, find @ c & 5

8. Geometry Each base angle of an isosceles triangle measures 55° 30", Each of
the congruent sides is 10 centimeters long.
a. Find the altitude of the triangle.

b. What s the length of the base?
c. Find the area of the triangle.

S.Boating The Ponce de Leon lighthouse n St. Augustine, Florida, s the second
tallest brick tower in the United States. It was built in 1887 and rises 175 fect
above sea level. How far from the shore s a motorboat if the angle of depression
from the top of the lighthouse is 13" 157

Pracice. Solve each problem. Round to the nearest tenth.
10.11A =37 and b = 6. find @

1.1c = 16 and B= 67", find a %
12,108 = 62" and ¢ = 24, find b. g
13,104 = 29" and @ < 46, findc.

1a.1fa = 173and B = 77", findc. A oy
15,106 = 332and B = 61°, find @ A o
16,108 = 49" 13 and b = 10, find @

17.A = 16'55 and c = 137, ind @

18.1fa = 223a0d B = 47" 18’ find c. 2 2
19.Find h, n, m, and p, Round to the nearest tenth. £~

20, Geometry The apothem of a egular pentagon Euriss 19

is 108 centimeters.
a. Find the radius of the circumscribed circle.
b. What is the length of a side of the pentagon?
c. Find the perimeter of the pentagon.
21. Geometry Each base angle of an Isosceles triangle measures 42° 30'. The base
s 14.6 meters long.
Find the length of a leg of the triangle.
b, Find the altitude of the triangle
. Whatis the area of the triangle?
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22. Goomatry A regular hexagon s inscribed In  crcle with dameter
64 centimeters.

‘. Whatis the apothem of the hexagon?

b. Find thelength of a sde of the hexagon.

. Find the perimeter of the hexagon.

. The area of a regular polygon equals one haf times the perimeter of the.
polygon times the apothem. Find the area of the polygon.

23, Enginesring The escalator at St. Petersburg Metro In Russia has a vertical rise:
of 1953 feet. If the angle of elevation ofthe escalator s 10° 21 3, ind the
length ofthe escalator

24, Criticol ThinkingWritea formula fo the volume of
the regular pyramid at theright n terms of and s the
ength of each sde of the base.

25, Fir Fighting The longest truckmounted ladder used by the Dallas ire
Department is 108 feet long and consists o four hydraulic sections. Gerakd

‘Travi, aerial cxpert or the department, ndicates that the optimum operating
‘angle of this ladder is 60" The fire fighters find they need to reach the roof of an
4ot buming building. Assume the adder is mounted § fee above the ground.

. Dravea abeled dlagram ofthe situation.

. How farfrom the bulling should the base of theladder be placed to achieve.
the optimum operating angle?

. How ar should the ladder be extended to reach the roof?
26. Aviation When a 757 passener et begins ts

Dotance.

descent to the Rorald Reagan International Travlod

Alrport in Washington, DC.,it s 3900 feet from

the ground. ts angle of descent s won| L
Ground Ditancs

. What s the plane’s ground distance to
the airport?
. How far must the plane fy to reach the rumway?

27. 8ot Safety The Cape Hatteras lighthouse on the North Carolina cosst was
built in 1870 and rises 208 feet above sea leve. From the top ofthe ighthouse,
the ighthouse keeper observes a yacht and  barge along the same line of sght
“The angle of depression for the yacht is 20", and the ange of depression for the
barge is 12" 30 For safety purpases,the kecper thinks tha the two sea vessels
should be atfeast 300 fect apart.  they are less than 300 fee, she plans to
sound the horn. How lar apart are these vessels? Docs the keeper have t0 sound
the hor?

28, Criticl Thinking _Derive two formulas for the
length of the altitude a of the triangle shown at
the right, given that b, 5, and # are known.
Justiy cach of the steps you take in your
reasoning.





